


BBoadcdrcary (S ologi 5l 033 Jae

Control Process Components. PNEUMATIC ACTUATORS

BODY MANUFACTURED FROM EXTRUDED ALUMINIUM UNI 6060
— Hard-coat anodized as standard finish 45-50 (micron)
— Good wear resistance. — High corrosion resistance
— Special finishes nichel-plating or P.T.F.E coated upon request
— Bore finished to high standard to ensure low friction and long life

UNI 6060 psxsoslT jl o ocidluw 035y

U950 B o —166y aolaud b o.3uis (JuloUT 3 ) 5,18 cadw =
Ulibwyd jolp 53 Ul sy glio —

53392 lp 33 U Loy Zaoglio -

Lalas <yguo 5> PTFE b JSw yograio iniigy

Gillgh o g S SlSahual Cig2 (518 Gibilo UL Cd S -

CONCENTRING SPRING SETS
— Standard coating painted
— High resistance and reliability
— Spring sets to suit different air pressure/torque requirements
— Long securing screws to allow safe dismantling for maintenance
— Same body dimensions for DA/SR versions
JSy0 e sl pud
>ylaoliawl Soy hibgy-
UL glisabl g Cioglio-
JUsi 390 Lalizo sl ygUidiS g L )Liid 51y camlio Lo 15 eegazo=
05 ol (35S Sl sl cmlio il sl oy -
(DA/SR)(683b g g 68 3b (S ) J 30 833 (y3gs 0183l =

DIE CAST ALUMINIUM END CAPS
— Standard polyester powder coated
— Upon request nickel - plated
or P.T.F.E coated for corrosive environment

(CaalSy1s) HUis cuns g S adiiyy

Il ygao g3 3 lsaliwl &ygas 0y 5539y sl Gl Say-

o3kl PTFE Ly S0 isSg) 1 3l 50 55339 luls 63 1ol byo s 1p2m

9450
ASSEMBLING SCREW

— Stainless steel as standard

ual sls gy
Sl 50 S laoliowl o yga0 00 S 3 j SUgé-
EXTERNAL CONNECTION
— Top of Actuatoraccording to Namur norm
— Solenoid valve connection according to Namur norm
— Bottom of Actuator according to 1ISO 5211-DIN 3337
03358 Jos (59 wmad biSol
Sl 0 490l 3yl ubwl g 635158 Jac (UL Caoud-

il 7 1990 3,k il B s i - ANTI -BLOWOUT SYSTEM

sl 5o DIN 3337-150 5211 3 jlastil bl g 05058 o il Caams ol y330 315595 552 (ysd 205 5 15515

NOMINAL VALUES:
— Pressure rating max 8 bar
— Temperature range:
standard (-20°C; +85°C), high (-20°C; +150°C), low (-40°C; +85°C)
— Pre lubricated for life of actuator on assembly
— Fully tested on manufacture 100%

Piston provided with
anti-blowout flat key.

U595 4lg2 4 Lok o algs

S Sladdio
JL A LS o b=
: iyl aols-
<(ASCE-1’C) 3 lastimwl
335 50 IS LS GLivgo I Jude 03558 oo yidion joc sl
338 o inslo)T % | o o jguas lvsisS  Joc—




Salogiy 5o 033S Jose I;lllzb

PNEUMATIC ACTUATORS w523 ol

PINION MADE IN STEEL

— Nickel-plated for standard version against internal and
external corrosion

— Stainless steel for corrosive environments upon request

— Anti-blowout design

Cawl 034 oSl ;u;sjllaa_\uég

ol 0.3 Ll 3 155liwl &y gus o b ;S35 Jalps o Cuoglio Cug> JSuo inSgy -

gl 50 03wl S5 3ud SUgd 293l (6 yidino il ) oy Ly Sl (50 553395 SIS 65 (ol huzo 51y -
Anti-blowout -

CAM FOR LIMIT POSITION ADJUSTMENT 0°-90°
- Stainless steel
- Adjustment for open and close position +5°

(90 ° - 0°) wsb oty g jl pabiss yogeaio
ROGRWINIFEHE

ity 5o £ 07 adhay g jly Sl aisim

°90-0 ADJUSTMENT SCREWS
- Stainless steel
90 °- 0% puiis yogaio gay
S3j Sud SUgdji-
PISTON GUIDES IN POM
—Large contact area
—Low friction for self lubricating material
—Long life
POM yuiz jl ygiluy sleusly
b ulas ahw -
IS peg 395 lgo jleslaiwl ule oy @S SSshusl-
Ugb joc-

PISTONS MADE FROM DIE CAST ALUMINIUM
— Chemical nickel plating upon request

Sl 03 Slg(CawlSyls) JLid caal (58 0y ) pgaisoglT Juis jI b gihass

Lol & yguo 5> JSoo S -
SEALS
— NBR standard version
— Viton high temperature version
— Silicon low temperature version
PXCT
NBR lsstiwl -
UL Los sl ugicle =
Working VARIATIONS Gty o> (5 98l =
355,18 sl >
Closed  ouuw
TWIN RACK AND PINION DESIGN
!'-' 1 x . - — Constant torque output
5 — Compact design
| f ‘ I 1 — Balanced internal forces
i e — Robust design to ensure long life
Counterclockwise Rotation  cticlus sls oujie cugs LS p s 2
R 9893 sl 0333 342 21
| ' L Cols gl 295
: l 192 9 @02 >lb-
SF e o G159 sl
Says8 5=2hb b jac Jgb ylnabl-

Clockwise Rotation cclu sl oyic cugz > sz

View from the top of the pinion  osss 552 UL jiles




Bodrars

Pneumatic Actuator Model 32

Control Process Components.

0awS Joe iwhs
ACTUATOR PARTS

PP Jao Suslogiy 68358 Jas

R
P
:‘\3_ .’:
a3y ilagadgs i UiiSg, 9 Uikdigy Slass
ITEM DESCRIPTION MATERIAL TREATMENT QTY
1 Body Extruded aluminium Hard anodized 1
2 Anti-blowout pinion Steel Nickel plated 1
-3 O-ring NBR 1
- 4 O-ring NBR 1
-5 Spacer ring POM 1
6 Snap ring Steel Nickel plated 1
7 Piston Die cast aluminium 2
- 8 O-ring NBR 2
9 Stop bolt Stainless steel 2
- 10 O-ring NBR 2
1 Washer Stainless steel 2
12 Stop boltretai ning nut Stainless steel 2
13 Left end cap Die cast aluminium Painted 1
14 Right end cap Die cast aluminium Painted 1
15 End cap seats NBR 2
16 End cap fixing screw Stainless steel 8
17 Position indicator Thermoplastic rubber TPE 1

« Parts subject to wear

Cdg T ) (530 T lehs »




o0auWS Joe iwhs

rer] /=177

SlUlw ) g8 crlobs

ACTUATOR PARTS

Pneumatic Actuator Model 52 to 230

Only for mod 230

PPo Jso gl had

PPo b oF J3o Syilogiy 6338 Jas

sy lagags > UkSg g Ulubigy adubgs | adbSy
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 Body Extruded aluminium Hard anodized 1 1
2 Anti-blowout pinion Steel Nickel plated 1 1
-3 O-ring NBR 1 1
-4 Spacer ring POM 1 1
-5 O-ring NBR 1 1
-6 0O-ring NBR 1 1
7 Cam Stainless steel 1 1
8 Spacer POM 1 1
.9 Spacer POM 1 1
10 Washer Stainless steel 1 1
1 Snap ring Steel Nickel plated 1 1
12 Piston Die cast aluminium 2 2
- 13 O-ring NBR 2 2
- 14 Antifriction ring POM 2 2
.15 Thrust block POM 412 1412
16 Stop bolt retaining nut Stainless steel 2 2
17 Stop bolt Stainless steel 2
18 External spring Steel Painted 0
*x19  |Central spring Steel Painted 0 w13
20 Internal spring Steel Painted 0
21 Left end cap Die cast aluminium Painted 1 1
22 Right end cap Die cast aluminium Painted 1 1
23 End cap seats NBR 2 2
24 O-ring NBR 2 2
25 End cap fixing screw Stainless steel 8 8
26 Position indicator Thermoplastic rubber TPE 1 1

« Parts subject to wear

** Reinforced series DIN 471 - UNI 7436
[4] Valid for mod. 230-200-180-160-140 only.
**% Only for mod. 200-180-160.

(g ) (530 T colehs «

DIN 471 — UNI 7436 0538 gl 5lad (5 puw #
Sulbly 50 im0 PIo=Poo=1Ao=150-1Fo slaJyoslyhisd[4]
Sl g0 Poo=1Ao=1%0 5l Jdo 5l s wxx

Page 5




Boadcdreary 0315 Joe cslabd

Control Process Components. ACTUATOR PARTS

Pneumatic Actuator Model 270 to 330 FPo b PVo Jso Suilogiy 6338 Jas

A ; = P B
k. _r, . e | e | 1 A= - A
Y Y ) # P47 B i1 {12 Y Part. A
o gy ! . 2 el - Lkl S——
el W e e - i Y e —
e I 1= U e |1 AL T | i
I | i = A
Ay | =1 i '
= — | S
- — | 11.3)
— I -
= |
- |
= |
Part. & |
a3y Colagdgs i UbiSg) 9 Uikiigy a5bgs | adubSy
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 Body Extruded aluminium Hard anodized 1 1
2 Anti-blowout pinion Steel Nickel plated 1 1
-3 O-ring NBR 1 1
-4 0O-ring NBR 1 1
.5 Antifriction ring graphite P.T.F.E 15% 1 1
+ 6 Antifriction ring PTFE 1 1
7 Plate mod.330 C45 Painted 1 1
8 Washer Stainless steel 4 8
9 Stop bolt retaining nut Stainless steel 2 2
10 Stop crew Steel Zinc plated 2 2
n Fixing screws Stainless steel 4 4
12 Piston Die cast aluminium 2 2
13 Precompressed spring Steel Painted 0 st a1
. . mod.12 270 | mod.12 270
14 End cap fixing screw Stainless steel
mod.16 330 | mod.16 330
15 End cap Die cast aluminium Painted 2 2
mod.6 270 | mod.6 270
- 16 Thrust block POM
mod.8 330 | mod.8 330
=17 Spacer ring POM 1 1
18 Pinion washer Stainless steel 1 1
19 Snap ring Steel Nickel plated 1 1
- 20 O-ring NBR 2 2
.21 Antifriction ring P.T.F.E 15% graphite 2 2
22 O-ring NBR 2 2
mod.4 270 | mod.4 270
23 0-ring NBR
mod.2 330 | mod.2 330
24 Anti blowout key POM 2 2
25 Position indicator Thermoplastic rubber TPE 1 1

« Parts subject to wear (adg el ) (530 T Colehd @




o lasl

DIMENSIONS

Dimensions for Model 32 PP Jdo 03338 Joe 6151

AW}
A ]
A/Q

 m——

IS
o
IS

J— H} - @ G - @i, — ,,%
"l 4 éé ©
z }

N6° holes M5

M6x12 IR N4° holes M5

@ CCW rotation CW rotation

Caelun 5l oy jie ago US4 S p2 el glo oy sie Caga 4 S y2

Hole

G
MOD.| o= | CH | A | B [ C | D |E |@F | S | H|[L|[M]|N]O]|P | Q]G@R

32 FO3 9 110 45 45 20 65 1,8 8/1" 10 50 25 12 M5x7,5 36 34,5 22




Bodrars o3l

Control Process Components. DIMENSIONS

Dimensions for Model 52 to 230 Pro 5 &F JSo 0313S Jac 6 jlasl
-

P
N
)
7
.

)

R/
Q
]
4
\QK\
[ «
i i "
O 0 i
— - °
- w
] — . N
'—B ‘GEJ’ - &j
& i o
= - O=—=20
12 |12
C D
N°4 holes M5
B
A
==
- U_ N°8-4 holes M5
|
H : >
s 11
11
i ) e |-
| | { |
. o
M6x12
* F0O4 upon request CCWrotatlnon _ X CW rotation
* Cawlgs) > oo Ly FO4 el (5l oy i Cuge SUS S y2 a5l Oy a2 S U3 2
moo.| M lew|alelc|p|E |F|6 |H|lalek| L | m|[N|olrp|al R | s |.T |ule
| 1505211 1501/7 2
52 F-03F05 " | 11 | 141 | 71 30 | 41 81,5 20 | 1015 |10 | 21 | 12 | 80 30 12 [26,5| 50 | 36 | M5X7,5 M6X9 8/1" | 345 | 22

63 FO5 - FO7 14 | 164 | 80,5 |355 | 45 93 20 | 113 |11 )25 15| 80 | 30 | 16 |275] 70 | 50 MéX8 M8X12 | 8/1" |345 | 22
75 FO05 - FO7 17 1210 |945| 42 |525 111,01 | 20 | 131 |13 /29|19 | 8 | 30 | 19 |[35]70 ] 50 MéX8 M8X12 | 8/1" | 42 | 29
85 FO05 - FO7 17 1240,5| 106 (47,5 |585 | 125 | 20 | 145 |15 /35|22 | 80 | 30 | 19 |4 |70 50 MéX8 M8X12 | 8/1" | 42 | 29
100 FO7-F10 17 1275|123 | 55 | 68 | 1378 | 20 | 1578 | 15 |35 |22 | 80 | 30 /205 |50 |102]| 70 M8X8 | M10X14 | 4/1" | 42
115 F07-F10 22 333|137 | 64 | 73 | 1624 | 30 | 1924 | 22 | 49 | 32 |130/80| 30 | 24 |50 [102| 70 | M8X12 | M10X15 | 4/1" | 64
125 F07-F10 22 | 372 148 | 68 | 80 | 1744 | 30 | 2044 |22 | 49 | 32 |130/80| 30 | 24 | 61 [102| 70 | M8X12 | M10X15 | 4/1" | 64
140 F10-F12 27 | 435|164 |765 875 | 197 | 30 | 227 |24 |49 |35 [130/80| 30 | 29 | 71 |125)| 102 | M10X15 | M12X18 | 4/1" | 64
160 F10-F12 27 | 500|186 | 87 | 99 | 221 30 | 251 |30 | 57 | 40 [130/80| 30 | 32 | 80 |125| 102 | M10X14 | M12X17 | 4/1" | 80,5
180 F10-F14 36 | 493 213 | 98 | 115 | 253 | 30 | 283 |36 | 62 | 45 [130/80| 30 | 43 | 99 |140| 102 | M10X15 | M16X25 | 4/1" | 80,5 | 60
200 F14 36 |578,5(217 | 108 | 109 | 278 | 30 | 308 | 36 | 67 | 50 |130/80| 30 | 37 |78 |140| / / M16X24 | 4/1" | 80,5 | 60
230 F16 46 | 690 |2485| 124 [1245] 325 | 30 | 355 |36 | 67 | 50 |130/80| 30 | 50 | 92 |165| / / M20X29 | 4/1" | 80,8 | 60

SRR IR(B

** Only square connection at °45 358 50 LB 62y O > s hitd GigS jlgz Juas! *x




o lasl

DIMENSIONS

Dimensions for Model 270 to 330 PPo 15 PVo Jdo 6533S Jac 6 j1a3l

o

B
%
= |

MOD. 270

N6° holes M5

C BN
R L4 ] *
(Bk
ol e
12
| 16
2l 6 | [
H 4
BK < T

I [ — ir
I NI o
; ; VAV
H H o J
B | ~ H
U vV C D
B
MOD.330 =
n4° holes M6 = i=
r } il
1 ® @ M6x12
| r =] £ 4@} T
® ] ® \ e
(3 |
I
OB T | 7]
R S
Y
22.5 X
225 N8/4° holes M5
CCW rotation g ) CW rotation
Sueluislo oule Sgo Sl b2 el sl oupie Cugo s LS S2
Hole T
MOD. R CH|A|B|C|/D|E|F|G|H|@@ZK L|L2IM|N|P|Q R S U7 u|Vv | wj|z|X @y
270 F16 46,.16721290 | 145 (145|399 | 30 {429 |36 | 70 |50 {130 | 80 |30 | 50 | / |165| M20X30 / 4/1" 1111 | 79 1230 | 68 |80,5| 60
330 F-16F25 55,,1881 1402 |201|201|505 | 50 [555|36 |109(50 [130| / |30 | 62 [254|165| M20X30 | M16X26 | 2/1" | 129 [135|297 | 95 |80,5 | 60

Only square connection at °45 338 50 LB 625 o lls 4o hid igS jlge Juasl xx




Boddrars o313

Control Process Components. DIMENSIONS

Dimensions Actuator 180° Double Effect 09,b g3 053 | Ao 03 Jas 0 j1sl

o

CH

i
R
Q
4] 4
oK
E@ )
O el
V]
= o
TGy @ =
= A 24 > o O Of=‘
1202 c ‘
D
N4° holes M5 T
B
A
=L C
u N8-4° holes M5
(= 5 ? =}
s R / R R
n ®
[
A Il | )N
=
[ M6X12
(%
* FO4 upon request @ C.CWrotati?n. o B CW rotation
% Cawlgs)s ey by FO4 acb 5l oy jde Zago SUS o 32 sl (5l o e Cug 4> Sy
Mop.| Mo ey | A |B|c|D|E | F |G |H @kl L M| N|O|P|Q| R | S |T]|u]/a
1SO0 5211 1501/7

52 F-03F05 | 11 | 197 | 71 | 30 | 41 81,5 20 (1015 (10|21 12| 8 | 30 | 12 |265| 50 | 36 | M5X75 MéX9 | 8/1" | 17 | 22

63 FO5 - FO7 14 | 233 805 (355 45 93 20 13 |11 |25 (15| 80 | 30 | 16 |275| 70 | 50 MéX8 M8X12 | 8/1" | 17 | 22

75 FO5 - FO7 17 | 298 (945 | 42 (525 | 111 20 131 |13(29 (19| 8 | 30 | 19 | 35 | 70 | 50 MéX8 M8X12 | 8/1" | 21 | 29

85 FO5 - FO7 17 | 341 | 106 (475|585 | 125 20 145 115|135 (22| 80 | 30 | 19 | 42 | 70 | 50 MéX8 M8X12 | 8/1" | 21 | 29

100 F07-F10 17 | 388 [123 | 55 | 68 | 1378 20 | 1578 |15|35 |22 | 80 | 30 [205| 50 [102 | 70 M8Xx8 M10X14 | 4/1" | 21 | 29

115 F07-F10 22 | 477 |137 | 64 | 73 | 1624 30 1924 22|49 | 32 |130/80| 30 | 24 | 50 | 102 | 70 | M8X12 |MI10X15 | 4/1" | 32 | 44

£

125 F07-F10 22 | 537 |148 | 68 | 80 | 1744 | 30 |2044 |22|49 |32 (130/80| 30 | 24 | 61 | 102 | 70 | MS8X12 |MI10X15 | 4/1" | 32

140 F10-F12 27 | 610 | 164 |76.5|87.5 | 197 30 227 | 24| 49 | 35 (130/80| 30 | 29 | 71 | 125|102 | M10X15 | M12X18 | 4/1" | 32 | 44

160 F10-F12 27 | 644 | 186 | 87 | 99 | 221 30 251 | 30| 57 | 40 |130/80| 30 | 32 | 80 | 125 | 102 | M10X14 |MI12X17 | 4/1" | 40 | 60

The dimension of the adjustment screws change according to the angle of rotation needed. 3905 33lg3 sl 520091 32b o 2 01l




ojlaal

DIMENSIONS

Stainless Steel Actuator Dimensions From Mod.52 To 100 100 b ap Jso ji S5 3ub 3Ugh 63558 Joe slayl

NEW P
cH N g
S
VAN
/
\j‘_/}\
R
Q
H
a
4
K
< _
w
(&)
A 3 w
T B i ©
=0 & FH—i—
::ﬂc - ®=q’7:ﬂ 2 o
| ST==F | |
122 n4° holes M5 ¢ D
A B
= L =
= U =
-7 n4° holes M5
— »Z
= P
s|ll ~‘77 |
I
izeca @ L ?
T 'S 1 I T I
Mé6X12
: ov
CCW rotation CW rotation
* Fo4
* ml;ﬁilrijl;;t @ aebu 5l oy yic Cug> BUS S 42 e acbu 5l oujde ug2 ) UinSs2
Hole T
MOD. - CH | A B C D E F G H | @ |oK | L M | N 0] P Q R S o u |ev

52 F-03F05 1 | 141 | 71 | 30 | 41 |855| 20 [1055| 10 | 21 | 12 | 80 | 30 | 12 |265| 50 | 36 | M5X75 M6X9 | 8/1" |345 | 22

63 F-05F07 14 1164 (805 (355 | 45 | 97 | 20 | 117 | 11 | 25 | 15 | 80 | 30 | 16 |275| 70 | 50 Mé6X8 M8X12 | 8/1" |345 | 22

75 F-05F07 17 1210 (945 | 42 |525 1151| 20 (1351 13 | 29 | 19 | 80 | 30 | 19 | 35 | 70 | 50 Mé6X8 M8X12 | 81" | 42 | 29

85 F-05F07 17 2405|106 | 47,5 |585 | 129 | 20 | 149 | 15 | 35 | 22 | 80 | 30 | 19 | 42 | 70 | 50 MéXx8 m8x12 | 8/1" | 42 | 29

100 F-07F10 17 1275|123 | 55 | 68 |143,8| 20 |1638| 15 | 35 | 22 | 80 | 30 |20,5|525 | 102 | 70 M8X9 | M10X14 | 4/1" | 42 | 29




Boadrcars 06 s Ju

Control Process Components. DOUBLE ACTING ACTUATOR

UL slos
Top view
Y Lo pacilion Lpon poe ton Clazzn aaslizn
T — - -
o 1 A g S0
- v et W e
] S I
| : JRE
-E - 5 * = B
Counrans cekmisg oraian Clazhw se rotalizn Ratalicn
With reference to the above diagram it can be noted that the torque of a o3 b g3 5l 633  Jae JgLidiS 65 35S 6 )Lkl 6595 ol oS3 ¢l 6w lgs 0 UL Jlgas oo 6293 b
double acting actuator remains constant through-out the complete action. 33l 5o ils g 1S LL

The user can decide on which model to choose according to his/her own .
il 1 393 K 5590 J30 goj Gl Jasdl jgiws jlestaiwl b 393 jLo ulwl s 30195 4o juylS

specific requirements, using the following guidelines : s
1.Define the maximum torque of the valve to automate BV INTRGIRIN UJ,,J*NJQUJJSL-H,LLQI
2. To obtain a safety factor increase the torque value chosen by 25-50% g il Suyd (o B PO cpms |y kol s b
(subject to the type of valve and working conditions). Caamag ool 19U « puyls oS L9 L @ij'\ s 03,5 31 1y OM';I'M;JS'@_W
3. Once the torque value suggested is obtained consult the torque chart ’ i ) i ) Ao
and in relation to the corresponding air pressure find a torque value 005 03,5 UL s ygu0 00 | g « 03,8 bl Jgas s 1y jLs 390 (sl LS 'IU;rF
exact to or exceeding the one obtained. ’ ) ) ) ) T MJ Jm: ..J"M
4. Once the torque value is determined move horizontally to the column R
“model” to find the actuator model required
AIR SUPPLY PRESSURE (bar) 639)9 slge HLius
TYPE 2,5 3 4 5 55 6 7 8
TORQUE OUTPUT DOUBLE ACTING ACTUATORS (Nm) 03,b 93 (5ld 035 oo 529> jgLliiS

DA 32 35 4,2 6 7,5 8 9 10 11,5

DA52 * 9 11 14,5 18,5 20 22 26 30

DA63 * 15,5 19 26 33 36 39,5 46,5 53,5

DA75 * 29 35 47,5 60 66 72 84,5 97

DA85 * 41,5 50,5 68,5 87 96 105 123 141

DA 100 * 66 80 108 136 150 164,5 193 221

DA 115 109 132 179 226 249 272 319 366

DA 125 143,5 174 235 297 327 358 419 481

DA 140 205 246 328 410 451 493 575 657

DA 160 287 344 458 573 630 688 802 917

DA 180 395 474 632 789 868 947 1105 1263

DA 200 532 638 851 1063 1170 1276 1489 1701

DA 230 879 1055 1406 1758 1934 2109 2461 2812

DA 270 1292 1550 2067 2584 2842 3101 3617 4134

DA 330 2299 2759 3679 4599 5059 5519 6438 7358

* Suitable also for stainless steel actuator. ol 0.3kl ol s S5 Sud Ugh 5l 6358 Jae (gl *




09,b Sy 08uuS Jac

SPRING RETURN ACTUATOR

Wah

Cpan cemslicn

Uk

Top view

Loy

- Chezec comtizn
.
B
L VIMZ
=
LI - :
L, ! oz pas for {oon] ! X
| q | | ar IS ’
&5 i . . A= oz== og=s . _ o : )
Caunlemclzcmise ratodan Clazkwize rodation Raleiar

With reference to the above diagram the torque of a spring return
actuator is not constant but decreasing. This is due to the action of the
springs that when compressed during air actuation counteract the piston
movement and accumulate energy which will be available in a decreasing
way during the rotation inversion. The torque given by the actuator is
defined by four fundamental values.

Opening rotation

MAD = Actuator torque with unfolded springs

MAC = Actuator torque with compressed springs.

Closing rotation

MMC = Torque with compressed springs.

MMD = Torque with unfolded springs

The user can decide on which model to chose according to his/her own
specifi requirements, using the following guidelines:

1. Define the maximum torque of the valve to automate

2. To obtain a safety factor increase the torque value chosen by 25-50%
(subject to the type of valve and working conditions).

3.0nce the torque value suggested is obtained consult the torque chart
and in relation to the corresponding air pressure find the torque value
exact to or exceeding the one obtained, taking account of the lower value
between the MMD and MAC values. 4. Once the torque value is determined
move horizontally to the column “model” to find the actuator model required

Jaio JIS L B 1l jlad b Sy sl 03058 Jae jglisiS sl ;0 oo UL jlages 5> oS jghilos
259351 Cucly 9 6303 63 1508 L8 4b 93 6 Ld 418 65 303 50 5 OIS ¢ JGULES st (al 65 Sl 0
3gul (50 63355 Jo 5 (5551 ¢y

1394 0 8388 5 3 4uj > la2 53 00T Caw oy gLlidS

U b ig2 o0 UinSy2

518 i L L eawsS Jac jgliinS:MAD

48 b 03 48 b oS Jac joliinsS:MAC

48 a6 i Jac b joliniS:MMC

b g3 jb Jee b gliiS:MMD

135S il | 395 30 Juj sl Josll jgiws jloskiiwl b 5g3 jls Gulwl o 30lgs o0 julS
394038, 3 13 1y sl JgUikS ey s |

Sgibolail oS 0o B PO G b wieal v pa- ¥

i8S B j3 L e Pyl 0 2le HLES Guub I s 03,8 3)lg 1 oal Cuwsy jglikS-p

ST oy ol jgtiiS MAC g MMD sl ylsio jl oSy o sioS jlsio

0358 Ulis GBI 900 0 1y g2 « 0355 woltisl Jgaz 3 1y jlab 390 15k giiiS i oSmIe

-Samp B Lo 390 Jso ou s

VALID FROM MOD.52 TO MOD.140 *
1Eo U LaP Jdo jloslaiwl LB *

VALID FROM MOD.160TO MOD. 200
PooJdoli1$o Jdo jloslaiwl

VALID FROM MOD. 230 TO MOD. 330
Po Jdo BPoe Jso jlostituwl Ju8

SPRING SETTING

SPRING SETTING

SPRING SETTING

SET STANDAAD C5

SET ETANDARD 06

PRETENSIONED SPRING

SET N° OFSPRINGS FOR EACH SIDE
SET EXTERNAL SPRING CENTRAL  SPRING INTERNAL  SPRING 0] 3/2
SET EXTERNAL SPRING INTERNAL  SPRING 01 _ 2 ~ 02 3/3 o
01 1 1 02 2 _ _ 03 4/3 < a
02 5 N 03 1 3 . 04 4/4 8%
TR R T — : il
(o)
04 2 ! 0 2 2 - 07 6/5 g
05 2 2 06 2 2 2 08 6/6

* Valid also for stainless steel actuator from mod. 52 to mod 100

Voo JaoloP Jao j1eSsj sub sUgd sl 63:iS Jac (515 03likuwl 5

Page 13




Bodreary odb Sy 0208 e

Control Process Components. SPRING RETURN ACTUATOR

Torque Output “SR” Actuators 0 b Su ko 62118 o 295 JglidS
3 oS S I Lius
RERICTAS AIR SUPPLY PRESSURE  (bar) 5299 Gle
. 25| 3 4| 5 | ss | 6 \ 7 \ 8
MOD SET | TORQUE (Nm) : -
TORQUE OUTPUT SPRING RETURN ACTUATORS (Nm) 093b Sy sl 63:5S o (2945 jgliiS
°0 °90 0 °90 0 °90 °0 °90 °0 °90 0 °90 0 °90 °0 °90 °0 °90
MMD | MMC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC
01 36 49 45 1.6 6.4 35 102 74
02 4.8 6.7 52 1.7 9.0 56 12.8 94
SR52 * 03 52 75 86 4.8 124 86 143 | 105 | 162 | 124
04 6.5 93 73 3.0 112 6.8 13.1 87 150 | 106 | 188 | 145
05 8.1 119 95 43 114 62 133 8.1 170 | 119 | 209 | 157
01 5.0 96 86 26 120 6.0 189 | 128
02 6.6 123 10.5 32 174 | 100 | 242 | 170
SR63 * 03 80 145 159 79 | 208 | 148 | 262 | 182 | 296 | 217
04 96 172 144 52 [ 212 | 120 | 246 | 155 | 281 | 189 | 349 | 258
05 125 | 221 182 7.1 217 | 106 | 251 | 140 | 319 | 209 | 388 | 277
01 100 | 195 | 158 39 | 220 | 101 | 344 | 225
02 133 | 256 188 | 40 | 312 | 164 | 435 | 287
SR75 * 03 151 | 282 294 | 138 | 418 | 261 | 480 | 323 | 541 | 385
04 183 | 343 262 77 386 | 200 | 448 | 262 | 509 | 324 | 633 | 448
05 232 | 430 336 | 113 | 398 | 175 | 460 | 237 | 583 | 361 | 707 | 484
01 161 | 273 | 222 76 | 313 | 166 | 495 | 348
02 199 | 337 276 | 103 | 457 | 284 | 639 | 466
SR85 * 03 243 | 408 413 | 213 | 594 | 395 | 685 | 486 | 776 | 576
04 281 | 471 375 [ 150 | 557 | 331 | 648 | 422 | 738 | 513 | 920 | 694
05 363 | 606 475 | 196 | 566 | 287 | 656 | 378 | 838 | 559 | 1019 | 74.1
01 246 | 446 | 360 | 100 | 502 | 242 | 784 | 525
02 326 | 589 422 99 | 705 | 381 | 987 | 664
SR100 * 03 359 | 637 671 | 333 | 954 | 616 | 1095 | 757 | 1236 | 899
04 439 | 780 591 | 190 | 874 | 473 [ 1015 | 614 | 1157 | 755 | 1439 | 1038
05 552 | 972 761 | 281 | 902 | 423 | 1043 | 564 | 1326 | 847 | 1608 | 1129
01 410 | 744 | 613 | 184 | 847 | 418 | 1314 | 885
02 507 | 944 749 | 218 | 1216 | 685 | 1683 | 1152
SR115 03 60.8 | 108.1 1116 | 547 | 1583 [ 1015 [ 1816 | 1248 | 2050 | 1482
04 706 | 128. 101.8 | 348 | 1485 | 815 | 1719 | 1049 | 1952 | 1282 | 2419 | 1749
05 904 | 1618 1287 | 478 [ 1520 | 711 | 1754 | 945 | 2221 [ 1412 | 2688 | 187.9
01 531 | 991 [ 802 | 212 [ 1109 | 519 [ 1722 | 1132
02 633 | 1175 1007 | 335 | 1621 | 948 | 2234 | 156.1
SR125 03 811 | 1484 1442 | 639 | 2055 | 1252 | 2362 | 1559 | 2668 | 1865
04 913 | 1669 1341 | 455 | 1954 | 1068 | 2261 | 1375 | 2567 | 168.1 | 3180 | 2294
05 | 1192 | 2162 1674 | 575 | 1981 | 881 | 2087 | 1188 | 290.1 | 180.1 | 3514 | 2414
01 82 152 119 36 160 77 242 159
02 92 172 149 56 231 138 | 313 | 220
SR140 03 117 | 221 205 86 287 168 | 328 | 209 | 369 | 250
04 128 | 240 193 64 275 146 | 316 187 | 358 | 229 | 440 | 31
05 164 | 308 238 72 279 14| 320 155 | 402 | 237 | 484 | 319
01 83 131 199 148 | 256 | 205
02 119 188 218 145 | 332 | 259
SR160 03 143 | 205 193 105 307 | 219 | 422 | 334
04 185 | 292 262 148 | 377 | 263 | 434 | 320
05 202 | 319 358 | 235 | 415 | 292 | 473 | 350
06 268 | 423 346 181 404 | 239 | 518 | 353 | 633 | 468
01 102 | 168 | 287 | 217 | 366 | 29
02 160 | 252 304 | 206 | 462 | 364
SR180 03 182 | 294 281 162 | 439 | 320 | 596 | 477
04 262 | 414 354 19 | 51 353 | 590 | 432
05 262 | 420 511 343 | 590 | 422 | 669 | 501
06 364 | 582 482 | 254 | 561 333 | 719 | 491 877 | 649
01 169 | 251 353 | 269 | 459 | 375
02 237 | 353 381 262 | 594 | 475
03 288 | 428 330 188 | 543 | 401 755 | 613
SR200 04 338 | 52 483 | 295 | 695 507 | 802 | 614
05 406 | 604 626 | 425 | 733 | 532 | 839 | 638
06 507 | 773 622 | 352 | 728 | 458 | oMt 671 | 1153 | 883
01 389 | 666 | 466 | 172 | 642 | 348 | 993 | 699
02 466 | 799 560 | 206 | 911 557
SR230 03 544 | 933 828 | 416 | 1180 | 768
04 622 | 1066 746 | 274 | 1098 | 626 | 1274 | 802
05 700 | 1199 663 133 | 1015 | 485 | 1191 | 661 | 1366 | 836
06 777 | 1332 933 | 343 | 1109 | 519 | 1284 | 694 | 1636 | 1046 | 1987 | 1397
01 506 | 791 780 | 490 | 1044 | 754 | 1572 | 1282
02 607 | 949 | 672 | 324 | 936 | 588 | 1464 | 1116
03 708 | 1107 | 564 | 158 | 828 | 422 | 1356 | 950 | 1884 | 1478
SR270 04 810 | 1265 721 257 | 1249 | 785 | 1777 | 1313 | 2041 | 1577
05 911 | 1423 1141 | 619 | 1669 | 1147 | 1933 | 1411 | 2197 | 1675
06 | 1012 | 1581 1033 | 453 | 1561 | 981 | 1825 | 1245 | 2089 | 1509
07 1113 | 1740 925 | 287 | 1453 | 815 | 1717 | 1079 | 1981 | 1343 | 2508 | 1870
08 1214 | 1898 817 121 | 1345 | 649 | 1609 | 913 | 1873 | 1177 | 2400 | 1704 | 2928 | 2232
o1 884 | 1372 | 1361 | 842 | 1821 | 1302 | 2741 | 2222
02 [ 1060 | 1647 | 1173 | 550 | 1633 | 1010 | 2553 | 1930
03 [ 1237 | 1921 | 985 | 259 | 1445 | 719 | 2365 | 1639 | 3285 | 2559
SR330 04 | 1414 | 2196 1258 | 427 | 2178 | 1347 | 3098 | 2267 | 3558 | 2727
05 | 1591 | 2470 1990 | 1056 | 2910 | 1976 | 3370 | 2436 | 3830 | 2896
06 | 1767 | 2745 1802 | 764 | 2722 | 1684 | 3182 | 2144 | 3642 | 2604
07 | 1944 | 3019 1615 | 473 | 2535 | 1393 | 2995 | 1853 | 3455 | 2313 | 4374 | 3232
08 | 2121 | 3294 2347 | 1101 | 2807 | 1561 | 3267 | 2021 | 4186 | 2940 | 5106 | 3860

* Suitable also for stainless steel actuator. -3l (0 63likanl B med S5 S sUgs sls 35S Jac gl ¥




TECHNICAL DATA

WORKING TIME (SEC) ol s 3,518 ¢loj
MODEL
32 | 52%|63* | 75% | 85*% |100%| 115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TY PE
COUNTERCLOCKWISE  ROTATION (DA) CCw |0.03 |0,07 |0,11 0,18 |0,36 |0,38 | 0,60 |0,80 | 1,13 | 1,43 1,99 |3,08 [4,15 |6,16 | 5,50
'g CLOCKWISE ROTATION (DA} CW |0.03{0,05(0,10 |0,15 |0,25 | 0,34 | 0,54 | 0,70 | 0,94 | 1,25 1,80 2,41 |3,80 |547 | 550
S
g C OUNTERCLOCKWISE (SR) cCw | - |0,07 |0,13 0,32 0,32 |0,54 0,92 |1,20 | 1,64 |2,27 |3,08 |3,58 [6,20 |8,97 | 6,40
CLOCKWISE  ROTATION (SR) cw - 10,07 (0,13 0,22 {0,30 | 0,48 | 0,75 |0,94 | 1,25 | 1,60 | 2,38 |2,80 | 5,40 |6,62 | 7,40
%
1 counmeciockwse  noration (ony |COW | - |008|0,14034 042 0,64 1,11 11871295 (303 | - | - | - | - | -
(=]
=3
) CLOCKWISE ROTATION (DA) cw - 10,06 (0,12 0,25 /0,39 |0,62 1,08 1,13 2,03 [2,29| - - - - -
Approximative times obtained at the pressure of 6 bar without valve. ool oy 3 Cp9u0 01 5 3929 093 § LS 131 0o
*Suitable also for stainless steel actuator. bl 50 03Ukl 18 o0 53 2 5gh 5l 0308 Joe sy ¥
WEIGHT CHART (KG) [0, oLiS oz s
MODEL 32 52 63 75 85 100 | 115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TY PE
DA °90 049 | 1,12 | 1,66 | 2,78 | 3,90 | 550 | 885 |10,80 | 16,30 21,75 | 29,00 |37,00 [58,50| 82,67 | 168
SR°90 - 1,30 | 1,97 | 3,39 | 480 | 7,00 |11,45|14,08 |21,80 | 29,50 |39,90 55,00 |71,00(100,27 | 209
DA°180 - 1,70 | 2,50 | 420 | 598 | 853 |13,65|17,35 |25,00 |31,20 - - - - -
STAINLESS STEEL ACTUATOR WEIGHT CHART (KG) S gbS o> o S b U 033uS Joc 1y jg
MODEL 52 63 75 85 100
TY PE
DA °90 2,26 3,13 4,96 7,5 10,2
SR°90 2,44 3,44 5,57 8,35 11,73
ACTUATOR AIR CONSUMPTION CHART o 63545 o o8 a0 slg2 T
MODEL 32 | 52% | 63* | 75* | 85% [100*| 115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
g COUNTERCLOCKWISE ~ ROTATION DA/ [CCW | 0.04 0.10 |0.19 |0.36 | 0.51 {0.79 | 1.29 | 1.63 | 2.26 |3.61 4,63 |5.70 1068|150 | 25,5
& SR)
S | CLOCKWISE ROTATION (DAY CW |0.03 [0.13 |0.23|0.44 |0.64 |1.00 [1.71 |2.21|3.16 | 5,02 | 6,60 [10,5515,05| 17.8 | 44,2
o
;'% COUNTERCLOCKWISE  ROTATION (DA) CCW | - ]0.17 1033 |0.60 |0.90 |1.37 |2.13 |2.90 |4.90 |540 | - - - - -
)
o
S | CLockwisE ROTATION (O CW | - |0.16 [029|0.56 (083|132 [225(3.00 (390 (632 | - | - | - | - | -

That is to say for the supplied absolute pressure and the number of strokes in a minute ol 03, 0uunla0 03483 S5 5> 82 130 § (53 a0 Gllo JLLS o S Caslino T oy il

*Suitable also for stainless steel actuator. <3ty 50 0.3kl o8 ad S5 ) sudsUgs 5l 63258 Jo gl *

Page 15




Hodcdrcary (@625 Jaz 28

Control Process Components. Actuators Code

ACTUATOR 0°-90° 823 90 5 0 U0 6318 Joe

DOUBLE ACTING PNEUMATIC ACTUATOR “DA”

63 b 93 Suiilogiy 033iS Jas
MODEL DA 32 DA 52 DA 63 DA 75 DA 85 DA100 DA115

DA125 DA140 DA160 DA180 DA200 DA230 DA270 DA 330
CODE

82DA0007 82DA0010 82DA0012 82DA0075 82DA0014 82DA0018 82DA0070 82DA0019 82DA0020 82DA0079 82DA0080 82DA0021 82DA0023 82DA0077 82DA0033

SPRING RETURN PNEUMATIC ACTUATOR “SR"

05 b Sy Suslogiy 033S Jos
SR125 SR 140 SR 160 SR 180 SR 200 SR230 SR270 SR330
82SR0010  82SR0012 82SR0075 82SR0014 82SR0018 82SR0070 82SR00T9 82SR0020 82SR0079 82SR0080  82SR0021

MODEL SR52 SR63 SR75 SR 85 SR100 SR115
CODE

825R0023  82SR0077  82SR0033

ACTUATOR 0°-180°

82,3 1Ae o Jaw 0auuS Joe

VERSION  0°-180° 523 1Ao o Jse
MODEL DA 52 DA 63 DA75 DAS5  DA100  DA115

DA 125 DA 140 DA 160
CODE

83DA0010  83DA0012  83DA0075 83DA0014  83DA0018  83DA0070  83DA0019

83DA0020  83DA0079

STAINLESS STEEL ACTUATOR 0°-90° 8335 90 B 0 U 185 3ud Juchwl 63558 Jos

DOUBLE ACTING PNEUMATIC ACTUATOR “DA”

08b 93 Ssilogiy 63338 Jas
MODEL DA52 DA63 DA75 DA85  DA100

CODE

84DA0010 84DA0012 84DA0075 84DA0014 84DA0018

SPRING RETURN PNEUMATIC ACTUATOR “SR” o S Solagi 05538 Joz
MODEL SR52 SR63 SR75 SR85 SR 100
CODE

84SR0010  84SR0012  84SR0075 84SR0014  84SR0018




No.105, Forsate Shirazi St.,
North Eskandari St.,

Tehran 1419794761 IRAN
Tel : (+98 21) 66 92 21 70
Fax: (+98 21) 66 92 90 04

www.badran-co.com

Gllad gy3aSawl gLls - Gligs
100 0 losl ¢ (5l a0 38 LS

1E19VaKEYS | ot SS
$% 9P P1 Vo tog—als
$% 9P 90 ol D ge—S3

info@badran-co.com



